QA 1991 /1
Lose die Gleichung:
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57 10 TN g
X 05+ 28 _00x 443 60
5 6
00x _ 60-05+ P+ 60005+ % 1360
5 6
12x - 30 + 6(2x + 8) = 12x + 10x + 180
12x - 30 +12x +48 = 22x + 180
24x + 18 = 22x + 180 [ - 22X
2x + 18 = 180 /-18
2X = 162 [:2
X = 81
QA 1991 V/1
49 4 2 63 1
_7(E -5y =2 e 10-
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49 28 14 126 31

—_———t—=— - .
X X 3 X 3 / Hauptnenner - 3x

3:-49-3-28+14x =126 3 - 31x

63 + 14x = 378 -31x [+ 31x
63 + 45x =378 - 63
45x =315 /: 45

X =7
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4Cx 410 64) = ~x— 12 o3
(4x+ )—(x+ )—3x— 5t
x 2x-13
3x+40-x-64 = 37 3 +23 / Hauptnenner - 15

45x + 600 —15x — 960 =5x—3(2x—13) + 345

30x -360 =5x - 6x+ 39+ 345
30x -360 = - X +384 /| + X
31x -360 = 384 / + 360
31x = 744 /31
X = 24
QA 1992 IV/1
9 28+4 94
28-2(—+4) = + -12
X 2x X

g 18 o 28+4 94

12 :
N 2x N / Hauptnenner - 2x

56x — 36 — 16x = 32 + 188 — 24x

40x — 36 =220 - 24x [ + 24x
64x — 36 =220 / + 36
64x = 256 /:64

X =4
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(12x+1,5 20,7 - (03-1,7x) * 1,2 = (21,38 - 4,24x) * 0,5

0,84x + 1,05 - 0,36 + 2,04 x 10,69 — 2,12x
2,88x + 0,69 =10,69 — 2,12x [+ 2,12x
5x 10 /:2
X 2
QA 1993 1/1
4(x; 10) _ 2(x3— 9) _ 4(2 ~ 14%)

4x+40_2x—18 _4x_116

5 3 3
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/ Hauptnenner - 30

30(4x+40) 30(2x-18) 30-4x 30-116

5 3
6( 4x + 40) — 10(2x — 18)
24x + 240 — 20x + 180
4x +420
420
2160

60
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40x
36x
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238 4.6
5 2'x X

9 12 27 9 6

— 3+ — =
x 5 2x 2 x

90 —24x - 135 + 45x = 60

/ Hauptnenner - 10x

-45 + 21x =60 [+ 45
21x =105 /.21
X =5
QA 1993 IV/4
1,075x + 1,375
4(4,7x ~14,7) - 16 = 433-(37,5-2,5x)* 1.8
2x+22
18,8x — 58,8 - WXT* —433-67,5+45x .o
37,6x -1176 -17,2x—-22 =86,6— 135 + 9x
20,4x —139,6 = -48,4 + 9x / - 9x
11,4x — 139,6 =-484 /+139,6
11,4x =91,2 /:11,4

X

=38
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4 11x-29
g(30x—75)—(x+27) .

3

Yx— 60— x—27 = 1X=29

72x-180-3x-81 =11x-29

69x — 261 =11x—-29 /-11x
58x — 261 =-29 / + 261
58x =232 /.58
X =4
1994 1/3
51 5_x i1 076 16,25x 610-21,35x 185
) ( 6 + 1, X)— , /10X + 18 = 18 - ’
10,5x +231x—0.76x + 16,25x _ 610-21,35x 285

18

31,5 +41,58 -13,68 + 16,25x =610 —-21,35x — 513

59,4 + 16,25x =97 — 21,35x
59,4 + 37,6x =97
37,6x = 37,6

X = 1
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